Subtraction of Decimals

Work these out in your head, then check the answer:

Solve these calculations using a written method:

a) £3.45
-£2.32

d) £7.32
-£2.46

g) £8.23
-£3.52

j) £12.87
-£2.65

b) £6.85
-£4.95

e) £2.65
-£1.34

h) £7.43
-£3.54

k) £13.35
-£5.24

c) £9.54
-£7.65

f) £9.85
-£2.92

i) £5.24
-£1.14

) £16.97
-£9.86

m) £3.50 - £1.10 =

n) £4.30 - £2.10 =

0) £6.50 - £2.30

u) I saved £17.50 and spent
£13.64 in the shop. How
much money do I have

left?

p) £4.20 - £1.40 =
q) £5.20 - £2.10 =

r) £9.40 - £3.30 =

v) I spend £16.25. How much
change do I get from £20?

s) £7.60 - £2.50 =

t) £4.60-£1.30 =

w) I have a piece of ribbon
which measures 6.75m. I
cut 2.65m from the ribbon,
and then chop another
1.25m off. How much
ribbon do I have left from

the original piece?
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